| Eotutisns Lo frotlom Sot |

PHY 131 ]
Y
@ (2 ﬁ’-.: 5043.».1?0 T~ 3500307
= Lf?),?ﬁ "'2—5:)/‘
S*C" / SD° _ -“%3046352’/‘ ”gﬁ)msﬂog

[5— ~51. é‘a (9qu




@)
OO PIPS 2 -
laaj

| SO spito ‘
| et H = | SD oo 308 = ] SDAm3L)
[ S Atts |
—, n s
E‘fﬁ- 29498 — 157
E% == = h (/oav:7§) T
ver ™ F+rE+F= (150 f124.9)C 7))
iy —
Fre, = = 201 T +23] J
— T ifiﬁz_w”;;;; 
IF,. | =201+ 25 =122 l
N
Lo @“%é:
- v T 20 ST R
)9—: 51,20 N V\/(
E), Yy
4 ”}aﬁ" “302—+E::5b5~
2
5b
i =4 (F: ?)D‘a -f'*gDA\
35 e = v 2 _ o -J:A
|F|= 30"+ 5D :15’3,BM
mé 22
> = 52 i
ot o %&J{Fjﬁ N:%E S




(4
B -
B -2 —= —
p= B-A
300 —
D
A= 200 ©
= OO L
— - 65 &
B = ~3004=b0T P "
+ 30D Mébj\ A
g Pl
R= —/30¢L + 26D J
5?-: B:’";? = (—15-1_\-'2.00) (() + (2 ZYa -"C))J«
I) D = —35b L 260 W»Z‘&wj
-ty 2 1 — e ——
o |plE \3sor 260" T B3 [ retss
e =5 A= 3£>£>‘ Ng W
| Lo = 35 4 g
(5 | |
]
] /}ﬂﬂ“‘ V’f‘_,azgﬁ_@-

© &=18°" = T~ So A (§o=




@

(%)
/ﬂ“@@a 50 ' 170 Lh< |

50[_1;— «— )

! k“‘

2.6Lb -
Ta—#—'ﬂ? %/‘é‘bﬂyzﬁu alp+C L) abBisls o-red <
t= —20(3) - % (200) + 179 (£) =2
- @_{@_-:_(30_ __
- 200 o




é;}w G ?*i: Bl “"‘““”f?
/
% &3 3 O
A ' R | /j.\) - "'*7-1\
i ® | bw
120 2o o 004k |

el tho, Ao gue alouts the 21D

Y = ¥ (o) - 3(0s) — W = O

)

W

_ 6(#20)-3(:0@
= -
f W = 70 L7< ]




